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gl & fery fAder —

Instructions for the candidates :-

1.

wlemeff OMR STR—YF& WR 30T U YRKI®T HHiB (10 3fdi &)
araey fored |

Candidate must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

oRleef AU IU TRT H B IR G |

Candidates are required to give answers in their own words as
far as practicable.

TR el TR W RY gy oie e Ffde axd §

Figures in the right hand margin indicate full marks.
gedl Pl LqFYGd g & foly Wieneial or 15 e &1 faRad a9
= T B |

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.

g8 U YRdT a1 WSl H B, Gue—3 Ud Yue—q |

This question booklet is divided into two sections : Section-A
and Section-B.

Gus—3 H 70 TGS YA &, H 9§ fbgl 35 Ul P SR oAl
affard 21 35 UEAl W AE BT IR o W UAH 35 B T



ARH- BT | UG U999 & forw 1 &f FefRa 8| g9@1 SR <9 &
o SuaTer R T OMR SR—-u3d ¥ o ¥ 981 fAdey @7
A /BTl df] U9 | We dR | fhdl N UoR & @EeaR /axd

geref /=S /RGA s &1 OMR STR—U5d% H AN &xAT #41 %,
AT YRIEAT IR ST 8T |

In Section-A, there are 70 objective type questions, out of which
any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. For answering these darken the circle with
blue/black ball pen against the correct option on OMR-Answer
Sheet provided to you. Do not use Whitener/Liquid/Blade/Nail
etc. on OMR Answer Sheet, otherwise the result will be treated
invalid.

Yue—q H 20 TYSRIY U T | UAP U & oY 2 3 MegiRa 2|
R & Bl 10 Ui & SR <1 aifard 2| 9% ifiRaa g9 wvs
H 06 ar" IR U AU T g uRb b forg 05 3w MR E,
™ 9 {8l 3 Ul & IR <1 AFaR 3 |

In Section-B, there are 20 Short answer type questions, each
carrying 2 marks, out of which any 10 questions are to be
answered. Apart from this, there are 6 Long answer type
questions, each carrying 5 marks, out of which any 3 questions
are to be answered.

¥l UPR & Seldei-idh SUBRUT BT YANT guiaam afoid o |

Use of any electronic appliances is strictly prohibited.




g e 2| 30 gRT g1 Y el fadwed & OMR fic R fafed &3 | smuai 35
Ul & SR o4 2| I wendf 35 9 1fde ueHl & SR Id &, 9l UM 35
ITRI B S BT |

correct. You have to mark your selected options on the OMR Sheet. Only

35 questions are to be answered. If the candidate answers more than 35

Yus—3 /Section -A

(@gf<ss 93) / Objective Type Questions

U3 T 1 W 70 db & UAP U & fov IR faebey Ry v € 5=+ 9

Question Nos.- 1 to 70 have four options, out of which only one is

questions the first 35 answers will be evaluated. 35x1=35
1. T4 9 DI Tl Uiy 78 7 ?

(A) TRRTSS Ui (B) srfergeres fr

(C) w1 ufer (D) SRy %y

Which of the following is not an endocrine gland ?

(A) Thyroid gland (B) Adrenal gland

(C) Sweat gland (D) Pituitary gland
2. T U DHE IV H PR 7 ?

(A) IeRTIRAT BT 0T BT (B) 3USTULRHl T 70T H_AT

(C) WgIo| B BT ATG HRAT (D) UISRCRIA BTHE BT ATd HRAT

Which of these is a function of testes ?

(A) production of sperms (B) Production of ovum

35x1=35



(C) Secretion of estrogen (D) Secretion of progesterone

DI AT BMM ®del Afgetell H Afdd 8T g ?

(A) Treifae (B) armsifawT
(C) wifers (D) E=gfer
Which harmone is secreted only in women ?

(A) Prolactine (B) Thyroxine
(C) Ghrelin (D) Insulin

TR YT ST 8 —

(A) gooT (B) fef

(C) sisPIy @1 el (D) Sudac it
Male reproductive organ is —

(A) Testes (B) Penis

(C) Scrotum (D) All of the above

f=forRaa & | 9 91 YW & Th WRHAH SR 7§ 7

(A) ST § Rber a1t g (B) bl Ud DRIl DI STl

(C) doa—dREMI § et gar (D) aredl | Fehet arer gar
Which of the following is a natural cause of air pollution ?

(A) Ash from volcanoes (B) Burning wood and coal
(C) Smoke from factories (D) Smoke from vehicles
HIf® g¥ash & AT A T 7 7

(A) 30 fo=1 (B) 28 &=



(C) 24 fa= (D) 22 f&=1
What is the normal duration of menstrual cycle ?
(A) 30 days (B) 28 days

(C) 24 days (D) 22 days

gH ¥ DI & YW & HRUT &l & ?

(A) 3iTF BT AT BT HH BT (B) g1 @ eTHAT HH BT
(C) =¥ 3T (D) efgsat &1 [T

Which of these occurs due to noise pollution ?

(A) Diminished eye sight (B) Hearing loss

(C) Skin disease (D) Bone disease

STH ¥ BIF A1 O 81T O & foly Sugad T8l § ?

(A) g8dT STet (B) @5 ST

(C) wufed st (D) TRH el

Which type of water is not suitable for hand washing ?
(A) Running water (B) Clean water
(C) Stored water (D) Hot water
ASTelTaeT &1 a1 HRT § 2

(A) ¥ BT BHT (B) Siet @1 B
(C) g& &1 &I (D) S99 & |1
What is the cause of dehydration ?

(A) Lack of food (B) Lack of water



10.

11.

12.

13.

(C) Lack of milk (D) All the above

JMBR 3T BT Fe<d & —
(A) IRIR & forg (B) worst & forw
(C) ¥ & fory (D) 374 &

Meal planning is important for —

(A) Family (B) Society

(C) Oneself (D) Al of these
fAerae 81 Jadl & —

(A) STIgRTPR (B) eriair #

(C) (A) 3R (B) T (D) 579 ¥ ®Ig &I

Adulteration may be -

(A) Intentional (B) Unintentional

(C) Both (A) and (B) (D) None of the above
UNIAORIA ST &I @ § —

(A) THIRT & y¥d Th (B) THYIRTT ¥ YEqd b

(C) uwa ¥ 45 feAl & (D) T9 ¥ B: A1 dP

The period of postnatal care is —

(A) Conception to delivery (B) Conception to predelivery

(C) Delivery to 45 days (D) Delivery to 6 months

9 O I IfddiTd T@eodl & Jdid 3dTr B °

(A) 311 (B) 9ret



14.

15.

16.

(C) ®us (D) S |+l
Which of these comes under personal hygiene ?

(A) Hands (B) Hair

(C) Clothes (D) All of the above
STH A B9 THULN. 71 dTel IS & ?

(A) Bt Ud HFeoll SIS (B) |t It

(C) faega uxa (D) varUI Sl Riefsr
Which of these is a F.P.O. mark products ?

(A) Fruits and vegetable product (B) Agricultural product

(C) Electric fan (D) L.P.G. Cylinder

g I DI WY ARET I U fafy g ?

(A) =T (B) g

(C) fediaxor (D) Swja |+l

Which of these is a method of food preservation ?

(A) Refrigeration (B) Drying

(C) Freezing (D) All of the above
Hell & Ub & oy FFe=ferfad # | &9 fi™eR 2 ?

(A) TR (B) @R

(C) dacifam (D) TS

Which of the following is responsible for ripening of fruits ?

(A) Mildew (B) Yeast



17.

18.

19.

20.

(C) Bacteria (D) Enzyme
9 W DI AT TYTIRT & SR W &I Ghbd g 7

(A) ¥o1 @1 TfT | HH (B) Iif | @A g8
(C) TR /=X H or (D) & =1 =t
Which of these is a danger sign during pregnancy ?
(A) Reduced foetal movement (B) Vagina bleeding
(C) Swollen feet/face (D) All the above
THTERT & SR g8 9 b o =1fey ?

(A) GTBT ST (B) eger

(C) ®Us &l (D) 9RI A SO™T
Which of these need to be avoided during pregnancy ?

(A) Mopping (B) Walking

(C) Washing clothes (D) Lifting heavy items

gTH | BIF ST T 7 ?

(A) &1 (B) et
(C) 7 (D) drefr
Which of these is a cool colour ?

(A) Green (B) Red
(C) Orange (D) Yellow
{5 UBR &1 I T ATl Tl <l © ?

(A) Fad "@ran (B) \rafdr T



21.

22.

23.

(C) dreg, e (D) et e
Which type of bank account does not give interest ?
(A) Savings Account (B) Fixed Account

(C) Current Account (D) Recurring Account

fhaa oI UHaImRIa S@HTe Agayul & ?

(A) T & ferg (B) 9= & farg

(C) =T (A) @ (B) (D) 5774 ¥ g &
For whom postnatal care is important ?

(A) Mother (B) Baby

(C) Both (A) and (B) (D) None of the above
T A D INIRG e & it 8] omar § ?

(A) @aTE (B) av

(C) &ra (D) wrar

Which of these doesnot come under physical development ?
(A) Height (B) Weight

(C) Teeth (D) Language

STH | B YIS gedr § 2

(A) & (B) o<

(C) = (D) wfY

Which of these is an animal stain ?

(A) Milk (B) Paint



24.

25.

26.

27.

(C) Flower (D) Vegetable

Af BT U 9=di B FIT YH AT © 2

(A) TTBfrE aRveRE (B) =& T wE
(C) 3T (A) 3R (B) (D) 577H ¥ BIg &
What does mother’s milk provide to babies ?

(A) Natural resistance (B) Safety and affection

(C) Both (A) and (B) (D) None of these

g1 ¥ DI @WIgT SIid HHAT 7 ?

(A) ufzrer (B) &t

(C) TTewrEs (3= ) (D) STa w+h

Which of these is a foodborne infection ?

(A) Dysentery (B) Cholera

(C) Typhoid (D) All of the above
f’T TR BT a9 SR # ge T8 <ar ® ?

(A) ETafy ST (B) SfraT &

(C) @ire wfasy fAfer (D) I g THIOT U

Which type of investment does not give rebate in income tax ?

(A) Fixed Deposit (B) Life Insurance

(C) Public Provident Fund (PPF) (D) National Saving Certificate

STH B A e T8 g ?
(A) ®f SE

10



28.

29.

30.

(C) ara (D) SUmrv
Which of these is not a human resource ?
(A) Interest (B) Knowledge

(C) Talent (D) Equipment

g M ¥ fHABT STAN Bl DI &1 A g W& & fory far mar g 2

(A) PR U9 &1 el (B) T9ereti= &1 Miferdf
(C) |l &\ &1 ufrt (D) 379 & 9T

Which of these is used to keep insects away from fabric ?
(A) Ink of Newspaper (B) Naphthalene balls
(C) Dry neem leaves (D) All of these

7 # | DI |1 9w o1 Hew gRIEeT e 7 2

(A) T gErd o (B) s

(C) wHI= (D) bt

Which of the following is the safest means of investment ?
(A) National Saving Certificate (B) Gold

(C) Land (D) House

ST W DI ITARE Fool &I d<d 78] & ?

(A) I (B) 3
(C) T (D) yeprer
Which of these is not an element of interior decoration ?

(A) Space (B) Colour

11



31.

32.

33.

34.

(C) Money (D) Light
=8 9 fhd T & forv werd iR 1 &1 ST BT B 7

(A) ghe gl a9 (B) el gl I

(C) T I a (D) g7 & =l

Starch and Blue are used for which type of clothes ?

(A) White cotton clothes (B) Black cotton clothes

(C) Coloured cotton clothes (D) All the above

4 # §&f gr1 St fd 9T ¥ =g & forg f3am o g ?

(A) T (B) wiferar

(C) fee=™ (D) 9T

Vaccine is given by drops in mouth to prevent against which disease?
(A) Measles (B) Polio

(C) Tetanus (D) Chicken Pox

g § 3R, ofTs Ud goid d 89 dldl e URa bgdidl & —

(A) 3f& (B) frr

(C) THI (A) iR (B) (D) SHI | | ®I3 el
Every change in size, height and weight in human is called —
(A) Growth (B) Development

(C) Both (A) and (B) (D) None of the above

94 W DI g9d 9 89 a1 o A8l § 7

(A) MBI STRexal B g (B) 3raret |URT @) W@¥Ig

12



35.

36.

37.

(C) wrasie fAfeidal (D) 3FTa¥dd Wd BT AT HRAT
Which of the following is not a benefit of saving ?

(A) Meeting emergency needs

(B) Purchasing of fixed asset

(C) Psychological relaxation

(D) Limiting unnecessary expenditure

SIeT BT STURIH 9T BIdT & 7

(A) H.,O (B) H.0O,

(C) HO, (D) H203
What is the molecular formula of water ?

(A) H,O (B) H.O,

(C) HO, (D) H203

T W BT Ib BT BRI E R ?

(A) 0T DT (B) H&T &I gad
(C) it dr (D) T 3

Which of these is not a function of bank ?

(A) Repay loans (B) Save money
(C) Insure life (D) Give loan
T GRIAT e PR & —

(A) T (B) eI

(C) Afa=rapTe (D) Swja |+l

13



38.

39.

40.

Saving does not secure —
(A) Past (B) Present
(C) Future (D) All of the above

g4 W AR ¥ fege) gwrs ufafes g smawge a8 g ?

(A) wie (B) =M

A

(C) =T (D) 94Tl BT ST

Which of these in the kitchen does not require cleaning everyday ?

(A) Slab (B) Dustbins

(C) Duster (D) Spice case

7 % & B9 gy H e S arer safdste T8l 2?

(A) arft (B) werd

(C) arssy g (D) T US=R

Which of the following is not an adulterant added to milk ?
(A) Water (B) Starch

(C) Milk powder (D) Wheat powder
qTel fohe dIveh O<d T 3reeT dId § ?

(A) HrET (B) T
(C) PrdleTsRe (D) ferf¥
Pulse are a good source of which nutrient ?
(A) Protein (B) Fat

(C) Carbohydrate (D) Vitamin

14



41.

42.

43.

44.

gTH W B A9 fAf3a a<g 7 ?

(A) e (B) &
(OEIPEIE (D) for=1
Which of the following is a man made fibre ?

(A) Silk (B) Wool

(C) Nylon (D) Linen

T 9 B Mg g9 7 ?

(A) Plewge (B) &Rre
(C) <qrapte (D) 37T & =l
Which of these is a mixed fabric ?

(A) Cottswool (B) Terry silk
(C) Terrycot (D) All of these

gTH Y DI 3MER GREU & Fad YR A g ?

(A) o (B) faamdat

(C) fafdxor (D) UTEERTE IR

Which of these is an oldest method of food preservation ?
(A) Drying (B) Canning

(C) Irradiation (D) Pasteurisation

TS YR ST MR INhR T fog fafsr o1 sy foear ar or ?
(A) 2 JFdTER 2013 (B) 2 3facaR 2014

(C) 2 31agaR 2015 (D) 2 31acaR 2016

15



45.

46.

47.

When was “Swachch Bharat Abhiyan/Compaign” started by the

Indian Government ?

(A) 2" October 2013 (B) 2™ October 2014

(C) 2™ October 2015 (D) 2™ October 2016

ST W f5a BT B B U A GO § o B BH 8l STl ® 7

(A) TEToT (B) HTOIeRI

(C) TroTT (D) 3774 & BIE &N

Low secretion of which hormone leads to lack of masculinity in men ?
(A) Estrogen (B) Progesterone

(C) Androgen (D) None of these

T8 ¥ B UTehide a & ?

(A) =h (B) wifereey

(C) (D) et

Which of these is a natural fiber ?

(A) Cotton (B) Polyester

(C) Rayon (D) Nylon

= H | I eAend uguer ¥ ywifad gidr g ?

(A) 7= (B) wfia—v1g

(C) aTeafa (D) &4 & W

Which of the following gets affected by radioactive pollution ?

(A) Human (B) Living organism

16



48.

49.

50.

51.

(C) Vegetation (D) All of the above
STH ¥ DI g A B d1el @y yare § ?

(A) g (B) =
(C) a1 (D) =raat

Which of these is a perishable food item ?

(A) Milk (B) Gram
(C) Flour (D) Rice
ST A B T @rey e T8 R 7

(A) S (B) el
(C) 9 (D)

Which of these is not an Agmark food item ?
(A) Jam (B) Oil

(C) Besan (D) Ghee

faeg sod fea 7= T ' —

(A) 30 3TacER (B) 2 Ta=R

(C) 10 Ta=R (D) 14 FI¥R
World Saving Day is celebrated on —

(A) 30" October (B) 2" November
(C) 10" November (D) 14™ November

SUITHIT MUY RHTIT Hal TSl B bl © 2

(A) AT @& a9 (B) fasmar @ U

17



(C) SuHIaT faare FaRoT ST (D) 74 & | & U
Where can consumers lodge their complaints ?
(A) Manufacturer
(B) Seller
(C) Consumer Disputes Redressal Commission
(D) All of the above
52. AT ITHTARRIT @l Iafd @I 7§ ?
(A) 280 faT (B) 180 =T
(C) 160 fa (D) 140 fo=
What is the period of normal pregnancy ?
(A) 280 days (B) 180 days
(C) 160 days (D) 140 days
53. M ¥ DI AU &I JJUReIf # Ted &1 dbfeud @™l & °

(A) “Tg 8 (B) raT ard) /AT A
(C) TsTT (D) 54 & Wl
Which of these is substitute of child care in absence of parents ?
(A) Siblings (B) Grand parents
(C) Neighbour (D) All the above
54. I AT YUY 31 BTHRSD T ?

(NEIEARECEL (B) #ra fAfHa ugmor
(C) T (A) 3R (B) (D) 578 ¥ BIg T8I

18



55.

56.

57.

Which pollution is more harmful ?

(A) Natural pollution (B) Man made pollution
(C) Both (A) and (B) (D) None of them
IRIR & fory {59 UHR &1 dolc HalaH g ?

(A) Fgfora gere (B) &S &7 oI
(C) w=Id 1 g1 (D) T & =t
Which type of budget is best for family ?

(A) Balanced budget (B) Deficit budget

(C) Surplus budget (D) All of these

g8 I DI H9d IRR F Holl YT A8l dedl g 2
(A) FIGE (B) %Iéiélg@E
(C) g (D) fqerfam

Which of these does not provide energy in human body ?

(A) Protein (B) Carbohydrate
(C) Fat (D) Vitamin

bl BT RIgid € —

(A) ora (B) srgard

(C) aer (D) &4 & wf

The principle of art is —
(A) Rhythm (B) Proportion

(C) Balance (D) All of the above

19



58.

59.

60.

61.

THEREIT ® SR Xad H b g Bl HH 8 Wil 8 2

(A) emsfa (B) ez

(C) = (D) SR

Which element gets deficient in blood during pregnancy ?

(A) Thymine (B) Calcium

(C) Myosin (D) Calorie

B H BlcARTDI, THFAI AT IRBI & A&H YA I Fd ISR &

gyl BT © ?
(A) fredt gguor (B) &t wgwor
(C) Stet gquoT (D) 3% & BIg el

Which type of pollution is caused due to excessive use of pesticides,

chemicals and fertilizers in agriculture ?

(A) Soil pollution (B) Noise pollution
(C) Water pollution (D) None of the above
T8 ¥ DI Il g DI faivar T8 8 ?

(A) R ga (B) sTRTHGTAD

(C) T (D) getraH

Which of these is not a characteristic of cotton clothes ?
(A) Wrinkle free (B) comfortable

(C) Cool (D) Soft

WrYdd HUS! DI ATEUT G B Feball & —

20



62.

63.

64.

(A) Bthal (B) Ryear ftber

(C) rsd (D) 5 & B¢ T
Storage of starched clothes can get affected by —

(A) Mildew (B) Silverfish

(C) Stains (D) None of these

IE W g oM & Iy T8 8 —
(A) xrarafre (B) wie
(C) grai® (D) #ifar®

Which of these is not a method of stain removal ?

(A) Chemical (B) Absorbent
(C) Solvent (D) Physical
feR @ g3 Rrew g —

(A) gorht (B) STraTR
(C) Berr (D) Riefy

Bihar needle craft is —
(A) Sujani (B) Jamdani
(C) Phulkari (D) Sindhi

S8 I DI 9ol URReUT BT d¥ldl 8 ?

(A) gar (B) wreic
(C) fpuaur (D) 37 & &I

Which of these is a method of food preservation ?

21



65.

66.

67.

68.

(A) Drying (B) Refrigeration

(C) Fermentation (D) All of the above

g A B WIgT Y | e &1 yar e &1 ddbAd § ?
(A) g TeToT (B) Xramafies usieror

(C) wiferer weor (D) Sugad a+

Which of these is a technique of detecting food adultration ?
(A) Visual test (B) Chemical test

(C) Physical test (D) All of these

STH | B URIR BT AIR® 3T & 2

(A) aa= (B) faern
(C) Her (D) &4 & el
Which of these is a monthly income of a family ?
(A) Salary (B) Rent

(C) Pension (D) All the above

fPH JPR & ged DI GSMI I HiSH &Il © 2
(A) i (B) Urforst

(C) sr=mma (D) Sisp
Which type of stain is most difficult to remove ?
(A) Vegetable (B) Animal
(C) Unknown (D) Corrosion

arY B JG TTH AT © ?

22



(A) STfaRASTT (B) BTgIoM

(C) TTggIor (D) STefarss

What is the major constituent of air ?

(A) Oxygen (B) Hydrogen

(C) Nitrogen (D) Water vapour
69. TTH W P URIHB [T B ?

(A) e (B)

(C) et (D) &4 & Wit

Which of these is a primary colour ?

(A) Red (B) Yellow

(C) Blue (D) All of these
70.  AIR® g Rl § WF=Ia: S9 |AT 81 W © ?

(A) 30—35 TY (B) 30—40 ¥

(C) 40—45 q9 (D) 45—50 Ty

What age does menstruation normally stops in a woman ?
(A) 30-35 years (B) 30-40 years

(C) 40-45 years (D) 45-50 years

Tvs—9d / Section-B

oY SN 999 / Short Answer Type Questions

U AT 1 ¥ 20 ofg STRIG Y g | {10 U P SR | UhD B U 2
3fh MEiRa & | U SR &I 4050 Tl H T | 10x2=20

23



Question nos. 1 to 20 are Short Answer Type Questions. Answer any 10

questions. Each question carries 2 marks. Answer your questions in about

40-50 words each. 10x2=20

1, IECIGE] 2
Vitamin

2. IEEICE] 2
Advertisement

3. Rl 2
Fiber

4. HAeGAeh 39T 2

Secondary Colour

5. RG] 2
Credit Card

6. gguoT 2
Pollution

7. Hifgd 2

Monetary income

8. UGS S| 2
Animal stain
0. HdfeTd BN 2

Balanced diet

24



10.

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

TR

Pregnancy
STl H gereie srgfar

Soluble impurities in water

Sl DUSI DI SEHA

Care of woollen clothes

ESEEIN]

Breastfeeding

ERUGIRE LI
Personal hygiene
JIRMCE T
Comfortable clothes
NERRCELE]

Time Management
gTiRaTRe HHTEA
Family resources
ATSRITS YT
Thyroid gland
ERISHIN

Unemployment
IREATS I

Temporary teeth

25



" 9a9a 93T (Long Answer Type Questions)

goq IIT 21 H 26 dP Y SN 2| 59 DI & IJd YT & folU 5 3fh

faiRa g1 =l 3 Ul & SR < 18109 U3l & SR T 80 I 100 Yeai H

=4

3x5=15

Question nos. 21 to 26 are Long Answer Type questions. Each question

carries 5 marks. Answer any 3 questions. Answer your questions in about

80 to 100 words. 3x5=15

21.

22.

23.

24.

25.

THIERT & SR PRI W9 ¥ b Uy dal dI eIl Bl © 7
oI N | 5
What are the nutrients mainly required during pregnancy ?
IRRITS U & BRI w1 7 ? 5
What are the functions of thyroid gland ?

TSy fha YR & B & 2 U Pl Alera qui o | 5

What are the different types of pollution ? Give brief description
of each.

fIER & ol v g3 Rreu (Ges oo & vy § ford | 5
Write about any one needle craft of Bihar.

IH & fhad UBR B 8 ? Ib & §RT YA S & o™l BT g
N | 5

What are the types of Cheques ? Give advantages of payment

by cheque.
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26. WY UGl & WREI BT & I T 7 2 U PN | 5

What is the main purpose of food preservation ? Describe.
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